2

6 4
7 6. Prove + + 5 +-r 4 i = s for all integers n with
0 1 2 n n
0

0. | i ‘
Prox by indection Tf h=o, 1l T4, LHS = (£) cud th ﬂHS*@};

1405¢ are g |
TH Assee (SH(‘?‘,@H £ (%1)> ('7}:”] ’
’7+f—:#() 3

We Mest Shoo (84 (1) 4(3) 4~ f(“;’ﬁ)+(éil’;’:‘) o

By 1o LHSax = (Tn)y (10) = (FU1) aud ges is e HOBY)

use TH i ;‘qum
Pasca [ '/“7‘9‘4’

4L ft.w’ﬁ S cm/ﬂf&g

7. Sharky, a leader of the underworld, was killed by one of his own band of four
henchmen. Dective Sharp interviewed the men and determined that all were
lying except for one. He deduced who killed Sharky on the basis of the following

statements:

a. Socko: Lefty killed Sharky.

b. Fats: Muscles didn't kill Sharky.

c. Lefty: Muscles was shooting craps with Socko when Sharky was knocked off.
d. Muscles: Lefty didn’t kill Sharky.
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8. Write the following sentence in if-then form: “A sufficient condition for Hal’s
team to win the championship is that it win the rest of its games”.
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